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(1). Compute the Laplace transform of
(a)f(t)=sin(at)cosh(bt) (b)f(t)=cosh(at)cos(at)

©)f()=e"tsin(t)

(2). Find the function f (t)for a given Laplace transform
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(c)F(s)= 52+4S+8 (d)F(S): (52+3.2)(82—b2)
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(E)F(S)= S (S + W )

(3). y=f(x) > solve y"'—2y+10y=0,y(0)=2,y(z/6)=1
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a2+t2

(4) If the Fourier transform of f (t) = ,a>0 is F(w)= (%)e_aIWI

Then what is the Fourier transform of the function g(t) = vt

@2 +t2)2

(5) Evaluate the Fourier Transform of the following function:

(@) F (0= exp(—ma°x?) () F (0= xexp(—ax2)

(@) F () =exp(-x°) (d) T (x) = exp(—ax2)

(6) Using unit step function of f(t)={2t ifO<t<2 , 0 if2<t<zw , -cost ift<r}

(7) (@) " (5) (b) T (3.5)



